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Problem 2: (20 pts.) The three blocks in the figure are pulled to the right on a horizontal

frictionless table by a force of magnitude F3 = 96.0 N.

my
12.0kg

Fy

a. (6 pts.) What is the acceleration of all three blocks?

b. (7 pts.) What is the tension F3?

c. (7 pts.) What is the tension F5?

my
24.0kg

Fa

36.0kg




Phys 131-01 Spring 2011

Initials:

Soconions

Test 1 Page 2

Problem 2: (20 pts.) The three blocks in the figure are pulled to the right on a horizontal
frictionless table by a force of magnitude F3 = 96.0N.

m
12.0 kg

Fy

my

a. (6 pts.) What is the ac

24.0 kg

F,

celeration of _all three blocks?

b. (7 pts.) What is the tension F;?

Tsdale block 4

c. (7 pts.) What is the tension Fy?
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